## RESOLUTION OF THE TOHONO O'ODHAM LEGISLATIVE COUNCIL

## (ENROLLMENT - JULY)

RES. NO. 224-87

WHEREAS, the Tohono O'odham Council has reviewed the recommendations of the 2 Enrollment Committee in accordance with Section 1 of Article VIII of 3 the Enrollment Ordinance, Ordinance No. 05-81, and has made a final 4 determination that the application of the following applicants for 5 membership in the Tohono O'odham Nation be approved: 6 ARTICLE II - MEMBERSHIP 7 SECTION (1b) ALL CHILDREN BORN TO RESIDENT MEMBERS 8 2350-B-84 WILSON, Anthony 9 \*1887-CK-87 QUIROGA, Ramona B. 10 \*1898-CK-87 CHAVEZ, Derek \*1899-CK-87 BEAN, Todd A. 11 \*1910-CK-87 GIBSON, Gilbert A. \*1914-CK-87 HENDRICKS, Delvina A. 12 13 \*1765-GA-86 PESINA, David A. Jr. \*1767-GA-86 VALISTO, Derek J. 14 \*1838-GA-87 PARRA, Stephen C. 15 1299-GV-86 BUTERBAUGH, Trinette A. 1314-GV-86 CELAYA, Joaquin L. 16 1349-GV-87 ORTIZ, Mario 17 \*1372-H-86 LEWIS, Vana Dee 18 \*1397-H-86 LUZ, Lorna C. \*1404-H-86 ZUNIGA, Jolene T. 19 \*1405-H-86 ZUNIGA, Salvador, Jr. \*1406-H-87 FRANCISCO, Crystal T. 20 \*1288-P-86 CARMELLO, Dawnielle Elise 21 \*1289-P-86 CARMELLO, Lisa Ann 22 \*1290-P-86 CARMELLO, Michael III \*1354-P-86 HARRIS, Kristina M. 23 \*1016-GB-86 KESLER, Adrian A. 24 \*1017-GB-86 KESLER, Alexander A. \*1018-GB-86 KESLER, Edward A. 25 \*1019-GB-86 LEBER, Marc A. 26 \*1114-GB-86 FRANCISCO, Adriana A. \*1115-GB-87 LEBER, Mark J. 27 1364-SX-86 LOPEZ, Berton J. 28 \*2963-S-87 ENOS, Margaret F. 29 FELIX, Scott W. \*2964-S-87 30 Juan, Roswell \*2966-S-87 31 \*1532-SO-86 ALVAREZ, Starlene M. \*1543-SO-86 JUAN, Babette

\*1591-S0-86

ENOS, Micheal W.

32

RES. NO. 224-87 (Enrollment-July) Page Two (2) \*1593-S0-87 JUAN, Janelle M. \*1596-S0-87 MANUEL, Brian G. \*1598-S0-87 THOMAS, Tasheena VAVAGES, Adrian \*1599-S0-87 \*1600-S0-87 AGUILAR, Thomas M. \*1601-SO-87 ALVAREZ, Rosanna N. 102-ND-86 FLORES, Santiago (Duarte) \*MEMBERSHIP ONLY ARTICLE II - MEMBERSHIP SECTION (1A) ALL INDIANS WHO NAMES APPEAR ON THE OFFICIAL CENSUS ROLLS \*1745-GA-86 JOSE, Solon Juan \*2911-S-86 CASTILLO, Pancha \*2912-S-86 CASTRO, Arturo \*2918-S-86 PABLO, Marie \*MEMBERSHIP ONLY THEREFORE, BE IT RESOLVED that it is hereby determined that the above named applicants are eligible for enrollment as members of the Tohono O'odham Nation under Section 1 (a) or (b) of Article II of the Constitution of the Tohono O'odham Nation, and that their applications are approved, as herein above indicated. BE IT FURTHER RESOLVED that the Chairman and other appropriate officers of the Tohono O'odham Nation reduce this final determination in writing regarding each of the foregoing applications for enrollment in accordance with Section 3 (c) of Article III of the Enrollment Ordinance; give notice of this Council's determination in accordance with Section 4 of Article III of the Enrollment Ordinance; and place the names of each applicant upon the membership roll of the Tohono O'odham Nation in accordance with Article V of the Enrollment Ordinance. The foregoing resolution was passed by the Tohono O'odham Council on the 1st day of July, 1987, at a meeting at which a quorum was present with a vote of 1322.0 for; -0- against; 318.0 not voting; and 01 absent, pursuant to the powers vested in the Council by Section 1 of Article II and of Section 1 (h) of Article VI of the Constitution of the Tohono O'odham Nation, adopted by the Tohono O'odham Nation on January 18, 1986, and approved by the Acting Deputy Assistant Secretary - Indian Affairs (Operations) on March 6, 1986, pursuant to Section 16 of the Act of June 18, 1934 (48 Stat. 984).

1

2

3

4

5

6

7

8

9

10

11

12

13

14

15

16

17

18

19

20

21

22

23

24

25

26

27

28

29

30

31

32

	(Enrollment - July) Page Three (3)
	TOHONO O'ODHAM LEGISLATIVE COUNCIL
1	
2	Harriet Toro, Legislative Chairperson
3	day of July, 1987.
4	
5	ATTEST:
6	Uresa M Chonenska
7 8	Teresa M. Choyguha Legislative Secretary  30 4 day of 1987.
9	
10	Said Resolution was submitted for approval to the office of the Chairman of the Tohono O'odham Nation on the
11	o'clock, $\rho$ .M., pursuant to the provisions of Section 5 of Article VII of the Constitution and will become effective upon his approval or upon his failure to
12	either approve or disapprove it within 48 hours of submittal.
13	TOHONO O'ODHAM LEGISLATIVE COUNCIL
14	(10.1)m Pt.:
15	Harriet Toro, Legislative Chairperson
16	[ ] ADDDOVED ) the day of 10
17	[ ] APPROVED ) on the, 19, at
18	[ ] DISAPPROVED )o'clock,M.
19	EXCEEDED 48 HOURS
20	ENOS FRANCISCO, JR., Chairman TOHONO O'ODHAM NATION
21	
22	Returned to Legislative Secretary on the 10th day of August,
23	19 87. at 9:42 o'clock, a.M.
24	Teresa M. Choyeyuha
25	Teresa M. Choyguha
26	Legislative Secretary
27	
28	
29	
30	
31	
1/	■ 10 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1

MOVED:	JULIA	CARRILLO

SUBJECT: ENROLLMENT SECTION 1(a) and 1(b)

SECOND: ANDREW PATRICIO

DATE: \_\_\_JULY 1, 1987

RESOLUTION DEXIDENTALE # 224-87

DISTRICTS	REPRESENTATIVES	# OF VOTES	FOR	AGAINST	NOT VOTING	ABSENT
SIF OIDAK	1. Nicholas Jose	69.0			X	
138.0	(Letitia Garcia) 2. Willard Juan, Sr. (Melissa Gregorio)	69.0			X	х
SELLS	1. Andrew Patricio (Daniel Lopez)	128.5	х			
257.0	2. Fred Stevens	128.5	Х			
SCHUK TOAK	1. Julia Carrillo (JoAnn Francisco)	52.5	х			
105.0	2. Joseph Juan (Frances Francisco)	52.5	х			
SAN XAVIER	1. Eugene Enis (Michael Rios)	63.0	х			
126.0	2. Tony Felix (Carmelita Mattias)	63.0			Х	
BABOQUIVARI	1. Kenneth Chico, Sr.	120.5	х			
241.0	2. Joann Garcia (Frances Miguel)	120.5	х			
GU ACHI	1. Percy Lopez	79.0	х			
158.0	2. Fernando Joaquin (	79.0	x			
PISINEMO	1. Johnson Jose	58.0	х			
116.0	2. Edward Manuel (Alex Antone)	58.0	Х			
SAN LUCY	1. Max Jose (Dewey Ortega)	42.5	х			
35.0	2. John Reno	42.5	Х			
GU VO	1. Virgil Lewis (Roy Montana)	58.5			х	
117.0	2. Cross Antone (Juan Joe Cipriano)	58.5			X	
HICKIWAN	1. Henry Ramon (Billy Manuel)	64.0	х			
128.0	2. Lloyd Francisco (Eleanor Santos)	64.0	х			
сникит кик	1. Rosita Ruiz (Rosemary Lopez)	84.5	х			
69.0	2. Harriet Toro (Marvin Thomas)	84.5	Х			
	TOTALS	1640.0	1322.0	-0-	318.0	01